@ L
= L
O -1
w107
5 E
1072f e Bl oo P
..... E - : +
= - : :
........... C . : [+ %
- : :
10°E I ST T :
F: _ B .
F: 10 3 A L TR
o OO0 S5 SR : S 4T
| * 53 - A s
| S I | | |
.910—1_ ! . . I IR .910—4_ T .=|.=....... T
IS r : : b T . * : 11
24 1f - : o 15 G AR CRE R Rl 100 i
RS S poeeepeeeos T : = : :
T e L
1E-. .*....'.’i‘.‘M—o—’;.Q:ti* ................. 1-—-- J_‘ e PPy 1 ***---.: ...........
10 1 10 0 . 10° 10 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
=~ 1 =~ 1=
E E E E
S F: )
> f 3
o B 2
810 =

1072

o - o
-~ . -~
g 4 I 5
z : 8 12

L3

'
% ;
—_——
i —

10 L 1P (pca dbeamiindf

.
ALY

A




	Contents
	Page 1


